AP Calculus Name: KW’\

Zombie Apocalypse Date: - Per:

The following is a graph of the a single Zombie’s velocity during the first 24 hours of the Zombie
Apocalypse caused by an AP Calculus student bubbling the “DO NOT BUBBLE” portion of the mock AP
test. (I warned you, | told you not to bubble!)
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(a) Write the piecewise function for v(t)
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(b) At what times during the interval 0 < t < 24, if any, does the zombie change direction? Give a

Calculus-based reason for your answer /"‘_\
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(c) During what time interval(s) is the acceleration equal to zero? Justify with Calculus.
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(d) If s(4) = 50, then write the equation of the tangent to the graph of s(t), the position function, at
t =4.

o (H4,50) S M=\VH) =320
U,\zgu(x-'—o +5D POowH St

< ﬁra,f;ln-

(e) Use the tangent line to the graph of s(t) at t = 4 to estimate the zombie’s position at t = 4.5
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(f) During what open intervals is the graph of s(t), the position function concave down. Justify with
Calculus.
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(g) During what time(s) in the open interval 0 < t < 24 is a(t) undefined? [Justify]
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(h) How far from home was the zombie at t = 24?

b
\ Nk =225 - )55 4 22
o} 3

Li
= ’@ M o [1%

L1
(_a-\-\\)%o 215
(i) What is the total distance the zombie traveled? “
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